s DHGEE

RIFJRVO Y (KA ECER] £FF

SH6FE6ASHTH
= I’ ad V) ANYRZIE—R
X 52 8% j FE X 5 8% B =& 8% FE X 5 8% B =& 8 B =& 8%
R BT (ATE)

H BMHE) =H ﬁﬁ% giﬁ%‘ggg AR E(TH%E) KR & (188%) KR & (188%) EH Srl(288%) HE A (18%)
88.5kg 93.0 4502 7860 28#3 0453% 2.50m 106m/s
Sf6E5A6H SHI5E4B6H Sf5F486H 4411850 44%E11A5H 44%E11A5H 4HM6E4B6H HM5E586H

e B | BER | 2E | B B BEH BE L —E~%2 BER DSTED; BER % A BEH e AYRZE—R
W B 1=F 88.5kg =H K&#| 3%F | 93.0m 2 B3| 2% 41 E@ BB |3F 7#68 £ B3| 2% | 28#5 £ B3| 25| 0954% £H &Hmd| 25| 2.50m H# FEKX|3FE| 106m/s
8REF BBE| 24 | 84.0kg mriE+| 3% | 86.0m BEELH|3E| 4W2 WE BEA|3E| 7969 3 A |3E| 2808 BmEELH| 35| 09550 =@\ Bk 3% 2.42m H % WA |3E| 104m/s
A W=\ 25 80.5kg A% BE| 3% | 85.0m HHE EK|3F| 4#2 H#® EK|3F 7#70 ek FA|3F| 29%0 TR EX|3F| 02558 H# RK|3F| 2.38m BRE BE|2F| 10Im/s
3% MA| 3% | 70.0kg Wl 32 sk | 3% | 81.0m B®E A |3E| 42 E2es|2Es] ™M WAL 3E| 290 mEE B A | 3E| 09568 kAR 32| 2.35m 2R F=H |25 99m/s
AR #=H| 2% | 67.0kg Vol 7 E Bk | 3% | 81.0m &3 & 2% 402 &3 BF| 2% 7B BWE EXA|3E|] 2081 =M@ AkE|3E| 09570 A% \2| 3% 2.30m AN EE| 28| 98m/s
% K| 3% | 66.0kg % fmAk| 3% | 80.0m WME Bk |2E| 4w2 6f |msk WA |3E| THTT WE BE|2E] 20 EE A8 |3E| 09570 #®E B 25| 2.30m 6l |33 =wm|1E| 97m/s
=3 EE| 2F 66.0kg EdE SRE| 3% | 80.0m Th | & B RK|2%F| 483 Thi |EEELH| 3% 7#80 ThI | A E EER|3F| 2983 H#¥ EKX|3F|0957# T | R BEX|3FE| 2.27m 76 | EE B K|3F| 96m/s
=R EM| 26 | 66.0kg #E &S| 2F | 80.0m 70 | A% mE|3F| 403 8f Mm@ & |2%| 7H81 761 | =@ gl |38 2983 FERIE 2 v | 35 | 0957 St |8R% B | 24| 2.26m 8t | HE A®|3%F| 96m/s
FE &%) 252 | 65.0ke 28 ®#l| 22 | 79.0m of |Em BE|3%F| 404 ot |#x% w=|3%| 787 off |#x% m=|3%| 29M4 &3 BF|2%| 09588 ofi |4 mE|3%| 2.25m oft |m#kmAER|3E| 96m/s
8RB B2 1% | 65.0kg =@ B8] 3%F | 77.0m off | &= @ & | 25| 4W4 106 | 3% WA |3%F| 788 off |fmm A#|3%E| 29W4 U Bk | 25| 09581 of 552 real| 2] 2.25m| [ 10fz| A% m= 3% 95m/s
BE K#| 3F 64.0kg A# £ 2% | 77.0m Ofii |#HE BAKR|2F| 4¥4 16 | ER Z /5| 25F 7#97 Ofif | AR FT:ht|2F| 29#4 WHE BR[| 25F| 0958% ofif |EF |25 | 2.25m 146 | ZH BZE|2F| 94m/s
mEEZN| 3% | 64.0kg =& e} 2% | 77.0m ofi | # B | 15| 4W4 126 | X 1% %8| 2| 8#00 121 | 3% WA | 35| 296 &% w2 3% 059w| | 126 [ mmE wa| 22| 2.23m | [ 126 | m A mE |22 94m/s
WA fMt+| 3F 63.5kg L BE| 2F | 76.0m Oofif | LR &% |2F| 44 136L £k HE|3F 8#03 1346 |4 BR|2F| 2987 =z H B |2F| 0259 1367 | #2 WK |3F| 2.22m 1361 | IR £ K [ 2%F| 93m/s
AREEE| 3% | 63.5kg mE BA| 3% | 75.0m off |mwm HE| 15| 44 14fi | @M A#|3%| 8wo4 1460 | EHHAE| 25| 2989 “E Rk | 2| 0s598| [ 146 |22 x| 2%] 2.21m 146 | W E B & | 2% 93m/s
=R BEH| 25 62.0kg £H BR| 2F | 74.0m 1561 (5 H K& | 3F | 4¥5 1440 | #33% &5 | 3F 8#04 156 | &40 # B | 2| 30#0 B FE|3F| 19008 1547 |EERIELTH| 35| 2.20m 1547 | BRI ZE LB | 3% 91m/s
i BE| 35 | 62.0kg ZE RKA| 2% |73.0m| |15tz | =@ a8 |3%]| 405 164 | ABR| 35| 8706 1561 | &3 H=@d| 25| 3080 =E 2| 25| 15008 | | 156z |#5 mx|3%| 2.20m | [ 156 | =32 w3 |25 91mss
A#t E45| 25 | 62.0ke FEMEZ S| 3% | 72.0m | | 1541 | 2 WA | 3% | 45 IEE I E 174 | v RER| 35| 302 2ix wefit| 22| 19008 | | 156 |mm #Em|3E| 2.20m | [ 17w | x @ 38| 91m/s
(57 3E| 3% | 60.5kg % BE| 3%F | 72.0m| | 1561 | mE @A | 3F| 485 184 |z B k| 2| 8#W15 186 £ 8 =mE | 35| 30M3 ww sz | 3E | 19008 | | 156 |mm x| 2% | 2.20m | | 186 [mrmAm| 25 91m/s
BEELTH| 3% 60.0kg AK ZE| 3% | 72.0m 1541 | H B R K| 3F| 4¥5 194 | # H AR | 2F 816 184 | #33% &K 52 | 35| 30#3 AHEER|3FE| 1201# 154 | & & & | 25| 2.20m 194L | ERIEZ N | 3FE| 90m/s
=@\ BB| 3% | 60.0kg EE =m,| 2% | 720m| |15t | =R =8| 25| 45 20f | = @ & |22 sw7 20fi | =B 2/ | 25| 305 2 mk | 3| 190®| [ 156 |2k @] 1E] 2.20m| |00 | £ @ m = (3] 8Som/s
&H S| 2F 59.0kg =H BE\| 2% | 72.0m 2141 [IMV#REAER| 35| 476 2141 | AHE EiA|3F 819 201 | A4 F&E|1FE| 3085 HE HX|3F| 1902 2147 | Nk A | 3F| 2.18m 2161 | EH A K [3F| 89m/s
BE E4| 3% | 58.5kg ERHA| 2% | 71.0m| |21 | zmE g2 2% ame 221 |17 g2 | 1| 822 224 | &8 =5 | 22| 3006 s nm| 25| 19028 | | 226 [maezn| 3] 2.15m 21| = #% & |2%| 89m/s
ol Bk| 25 58.5kg INKRAER| 3% | 70.0m 214I | A Ft £ 46| 25F | 4¥6 230 | K4 £k | 25 836 230 | Z B R K| 2F| 30#7 a# FHE|1F| 19028 2201 | AR FTeht| 2| 2.15m 231 | &= B B M | 2F| 89m/s
#ME®e| 26 | 58.5ke WA @mt| 3% | 70.0m| |21 |2 =8| 25| a6 24fu | E B &% | 22| 8®40 23 | E B & & | 22| 3087 ## 851219020 | 246z [8@E x®[3%] 2.11m 8| 2% 88m/s
= k| 15| 58.0kg tE &% 2% | 69.0m| | 2141 [ mm 3% a6 256 | RA M| 1E| 8w45 256 | %= ® & |2%| 30#8 hikEAR| 38| 15038 | | 25 | x4t =] 2% 2.10m B | 22| 88m/s
AR 3% | 57.0kg ok M| 1F | 69.0m| | 214 |EAHAR| 2% | 406 ENHAR| 2] 8W47 2k 2E|3%| 3089 ok M| 1E| 19038 WA fit| 3% 2.08m 12| 88m/s
=@ @A| 26 | 56.0kg & BA| 26 | 68.0m| | 21 |mapigzn| 3% a6 | || maiezn|3%| sws0 | 0| mssie 2 7] 35| 3089 #E w25 19040 | | o] #L mt] 1] 2.05m ¢ 2 & 3% 88m/s
| | g 18| 3% | 56.0kg | | @ mr| 22 | 67.0m 21 | SRR f2 | 15| 46 = B A|2E| 8#W50 wik 2A| 1| 30w | [y mesamm| 25| 19048 | | ] @ B2 | 35| 2.03m e |3%| 88m/s
| )| #% m=| 3% | 53.5ke | )| mm #s| 3% | 66.0m WA @t | 3E| 4n7 =W M| 26| 8W53 | ool 58 T 1] 3089 | |yl Em Bw | 2E] 14048 =B Bmit| 2% 2.02m miw | 1E] 87m/s
| <o | EAdMARR| 225 | 53.0kg | <o 2mEEE| 3% | 65.0m ak | 1E] 47 | || % B+ [15] 8ws8 | oo 3 x| 3%] 310 | gl a2k 21| 3E [ 1904w | |l B mE| 1] 2.01m . 1% % | 2| 87m/s
| | 2k 2| 3% | 53.0ke [ <00 | #% mA| 3% | 65.0m ZAEXR|1E| 487 EM mE|1E| 8166 || Emam|2] 310 | |yl EE 5| 22 19048 i &z 3% 2.00m & | 2% 86m/s
#ME BAKR| 25 | 53.0kg | <0817 @] 1% | 65.0m B E EA|3E| 408 HE HA|3E| 869 Z& @A 2E| 3181 | o % B [ 1= 19040 Ak ZE| 3% ] 2.00m WA |3%] 85m/s
SiE B3| 2% 52.0kg #MIL Wt 1% | 64.0m a2 mE|2%F| 478 WA it |3F 875 A+ EH|2F| 311 L5 A | 25| 19058 BiE &% | 2F| 2.00m | 1E 85m/s
#I W] 1= | 51.0ke W &=| 3% | 63.0m P B3| 48 P EE|3E| sWTs MHEAEA|1E| 3193 FH 52| 35| 19058 EH#AER| 22| 2.00m A | 2| 85m/s
REBE|2F 51.0kg HE B8k| 2 | 63.0m BiE &% | 25| 48 RH &0 |25 893 WA @t |3F| 31#5 =1 =% |2F| 1905# fRIF 20| 15| 2.00m EB|3F| 84m/s
®WE BEA| 3% | 50.0kg =E WM 2F | 63.0m 25 B A | 25| 49 Ak Z®|3E| 8Wo4 W BT |1E| 3185 WA wt|3E] 19058 | | 366 |=zm mA|22] 1.98m R K| 2F| 84m/s
B RKX| 25 50.0kg A FHE| 1% | 63.0m =H AEE|2F| 479 INWARZEK| 15 894 RIF O | 1F| 3185 AH EH| 25| 19058 374 | KA EMA| 2F| 1.95m W A|3F| 83m/s
% HmE| 12| 50.0kg RE BH| 25 | 62.0m MR k| 1E| amo BiE BE |25 9W00 ok M| 1E| 3185 58 T4 1E| 19068 | [ 386 # mt|1£] 1.94m Wit | 1= 81m/s
RA B 25 49.5kg wH B 1% | 62.0m RH BA| 25| 4#9 5 & | 2F 9#00 HEBEE|2FE| 316 fRIF RO 15| 19068 394 | EE &%F| 2F| 1.92m B | 2%F| 80m/s
(@RS 1% | 49.0kg EE &A| 2% | 61.0m EH mE|1E| 4am9 R B | 2| 903 RE MEE|1E| 3196 R k| 1= 1907w | 406z |ammEE| 32| 1.90m Wi &= 3%E] 80m/s
&1 B | 2% | 47.5ke SiE =4 24 | 60.0m PEEETAEEEN mE A 12| owo3 v e B | 25| 3200 w me| 1= 1907w | 406z | mm wE| 22| 1.90m vl m sk 1E|] 79m/s
% BA| 3% | 47.5ke mAmME| 25 | 60.0m| || sH mE| 22| 581 ; B5E T 1E| owi2 | pe 35| 3214 EEEr| 1= 1908w | | 406 % B5|1E] 1.90m | [ 2o a®@EES|3FE] 79m/s
M hE| 1% | 47.0kg | 150 tr%s ezm)| 14 | 60.0m =B | 2| 51 | [Lep| @ mw|1E] omis [ i me|1E] 325 npAExR| 15| 15008 | | 406 [k EA]1E] 1.90m W OME | 25| 77m/s
EH | 1% | 47.0kg | L s k| 1= | 60.0m | || mE ma|1E| s | |l mw A 1E]  omie | w a1 326 | | el A | 1= 19008 | | 40tz [z BA|1£] 1.90m BB =% |28 76m/s
| i s A| 32 | 45.5ke nexEx| 1% [ 59.0m| [l mw A E] 5w | [l mr mA]1E] omo |l Es s 1w 32m8 | Lk mm EA1E] 19008 | BE F|1#] 1.85m | || mH sz 1E] 74m/s
2k E#| 1% | 45.0kg = wm| 24 | 58.0m| || e mx|1E] 581 =B B |2E] 919 WM A¥|1E| 3380 miE k| 1E| 19108 | [ Lel| e xm| 1] 1.85m & & B |28 73m/s
CEGnE tf Bl | 1F 45.0kg BEH OME| 1% | 58.0m ?ﬁ[ﬂi} K| 1FE| 581 BH WME|1F of25 A BE|1F| 33 ME KK 1FE| 197108 =H EE| 25| 1.85m # OB |1=E 73m/s
URCIOE F )l BESL| 26 | 44.0kg =& B | 2% [54.0m| [lan|mzm &gl 12| s WME AK|1E| 9W20 R Ek| 1| 3382 KT B | 2F| 19108 heAZEL| 12| 1.83m E@mEERL|1E| 72m/s
494 Eg=EE s LS 41.5kg # B | 1%F | 53.0m CCIbE BE T | 15| 582 490I KBSy ME:= of32 ZR BMH|2F| 333 B BE|1F| 19118 EA #ME|2F| 1.80m B8 F#|1=F 72m/s
SIoE AR BE| 15 41.0kg Wik EBA| 15 | 52.0m CEeTE ML Rt | 15| 582 R E5(1F of»53 ARAES|3F| 3374 = B It | 25 | 19128 BH OWME| 15| 1.80m I OBE}|2F| 72m/s
Selovs fREF BER]| 15 41.0kg R} 15 | 52.0m SHloll = 15 BE | 25| 583 Cukal 75 )| BE 3| 25 o959 #HA BR|1F| 3314 e h¥E|1F| 1912% 1 hk| 15| 1.80m INEAREZEKX|1F 70m/s
ooa| M BR| 1% | 41.0kg B% A%| 1F | 52.0m| el 55 | 1E| 583 el A REEE|3E| 9160 52 EIEREIEESS HE BR|1E| 19128 8R% BEEl| 14| 1.80m %% 28512 69m/s
= mE| 2% 40.5kg Siivdl 75 )1l BEXL| 25F | 51.0m SRl R IREEE | 3F| 584 CRivM AR BEE| 15 9769 Bl H¥E|1F| 33#8 BH ORE|1F| 19128 Cljval A BFE| TE | 1.79m el BR ¥F BE Rl | 15 69m/s
HWE K| 15 40.0kg il 2 £4| 15 | 51.0m CRlvMl ST B M| 1F | 584 BB A¥x|1F o969 hiE BX|1F| 33¥8 wH OEH|1E| 19128 Il B} | 25| 1.78m ME OKKE|1F 69m/s
BE BA| 1F 39.5kg BE F#| 1% | 51.0m Bl A¥X|1F| 574 =B B 2F o711 = E B | 2% 3379 ol REES | 3F | 1913% ol 4B I&3K| 15| 1.75m hiE BX|1F 68m/s
=i =% 2% | 38.0kg hiE BA| 14 | 50.0m| [kl B mE| 15| 504 HE B3| 1E| w72 =H REB|2F| 344 =3 BE| 2% 19138 WA x@| 1%] 1.75m wmm n%|1E| 67m/s
INEAREKR| 15 37.0kg #A #ER| 1% | 48.0m Il e | 2F | 584 A WE|2F of81 mA WE|2F| 34¥5 =1 B |2F| 1913% =1 B’ |2F| 1.69m WK EBA|1E 66m/s
%% 85| 1% | 35.5ke WA AA| 1F | 48.0m WA ME| 25| 585 W BH|1E| 10006 wx xa|1E| 348 I BESL | 26 | 19148 (E@ERL| 14| 1.65m B B&E|1E| 66m/s
WA K| 15F 35.5kg @ A¥k| 1% | 47.0m ol EERIEIR| 15| 56 ol ERRIBR | 1E | 10822 ol ERIEIR| 15| 3587 ol A HWE|2F| 19168 ol %A BER|1£E| 1.65m HHA #5115 64m/s
W BA| 12 | 35.0ke At BEE| 1% | 44.0m WmA K| 1E| 587 WA AA|1E| 10953 i BW| 15| 3606 wE xa|1E| 19178 i =W 1%] 1.59m Wx A®|1E| 59m/s
EoT 54.2kg Ea 65.8m EoT] 478 EaT) 870 EoT] 31704 T 15305% EoT] 2.03m Ea 84m/s



